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a) The raw data is difficult to analyse in this form, so we can't really 
determine if the distribution is uniform.

b) To help analyse the data we can put it 
into a tally/frequency table. By looking at 
the table we can see that the distribution 
is uniform, because each percentage of 
oxygen has the same frequency.

a) The area under the probability distribution is always equal to one.
base x height = Area

3.8h = 1

h = 1 / 3.8

h = 0.263 

base = 73.0 ­ 69.2

base = 3.8
The height of the probability 
distribution is about 0.263

b) The area under the graph for a given region is equal to the 
probability of it occurring: P(69.2 < x < 71.1) = area 

base = 71.1 ­ 69.2

base = 1.9

The probability of getting an arrow less than 71.1 cm is 0.4997

Area = base x height

Area = 1.9 x 0.263

Area = 0.4997

base = 71.6 ­ 70.6

base = 1.0

Area = base x height

Area = 1.0 x 0.263

Area = 0.263
The probability of getting an arrow between 70.6 cm and 71.6 cm is 0.263

c) The area under the graph for a given region is equal to the 
probability of it occurring: P(70.6 < x < 71.6) = area 
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c) Mean life = Total of (Mid x Freq) ÷ Total Frequency

= 1368 ÷ 100

= 13.68
The mean life is about 14 days.

a) b)

b) P(x < 7) = 0.01

c) P(11 < x < 17) = P(11 < x < 13) + P(13 < x < 15) + P(15 < x < 17)

    = 0.240 + 0.270 + 0.200

    = 0.71

The probability that a given fruit fly will die 
before the end of the first week is 0.01

The probability that a fruit fly will live from 11 to 17 days is 0.71
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a) Mean = Total of heights ÷ Number of plants

= 1098.3 ÷ 28

= 39.225
The mean height is 39.225 cm

b) Standard deviation 

= 43997.27 = 28(39.2252)

= 43080.8175

n = 28

s = 43997.27 ­ 43080.8175
28 ­ 1√

s = 5.8260 The standard deviation is about 5.8260

c) Create a grouped frequency table

Lowest value = 25.1 cm

Highest value = 49.5 cm

d) The distribution certainly has a 
bell shaped look to it, however the 
data does appear to be more 
negatively skewed when compared 
to a true normal distribution.



7.60 Probability Distributions for Continuous Variables Review.notebook

5

November 04, 2020

Find the z­score for $65,000 and then look 
up its associated probability in the table.

x = 65,000      = 62,000 s = 2500

z = (65,000 ­ 62,000) / 2500

z = 1.2 P(x < 65,000) = 0.8849

However, we want P(x > 65,000)

P(x > 65,000) = 1 ­ P(x < 65,000)

   = 1 ­ 0.8849

   = 0.1151
The probability of a graduate getting a job with 
a starting salary greater than $65,000 is 0.1151

a) Find the z­score for 120 km/h and then look up 
its associated probability in the table.

x = 120,      = 105,  s = 7

z = (120 ­ 105) / 7

z = 2.14 P(x < 120) = 0.9838

However we want P(x > 120) = 1 ­ P(x < 120)

    = 1 ­ 0.9838

    = 0.0162

1.6% of the drivers are 
expected to accumulate 
demerit points.
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b) Find the z­scores for 101 km/h and 99km/
h then look up their associated probabilities 
in the table. Finally subtract the probabilities.

Upper limit: x = 101,     = 105, s = 7

z = (101 ­ 105) / 7

z = ­0.57

Lower limit: x = 99,     = 105, s = 7

z = (99 ­ 105) / 7

z = ­0.86 P(x < 99) = 0.1949

P(x < 101) = 0.2843
So the P(99 < x < 101) = P(x < 101) ­ P(x < 99)

= 0.2843 ­ 0.1949

= 0.0894

The probability of a given 
vehicle having a speed 
between 99 km/h and 
101 km/h is 0.0894

a) A confidence level of 95% has a z­score of 1.960.
z = 1.960,  p = 0.42,  n = 150

E = 1.960 0.42(1 ­ 0.42)
150√

E = 0.078985811

The margin of error at a confidence 
level of 95% is about 7.9%

b) Confidence Interval = Mean ± Margin of Error
Lower limit = 42 ­ 7.9

    = 34.1%

Upper limit = 42 + 7.9

    = 49.9%

The 95% confidence interval for a market share of 42% is 34.1% to 49.9%
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a) A confidence level of 90% has a z­score of 1.645.
z = 1.645,  n = 100,  σ = 9500

σ = standard 
deviation of the mean

E = 1.645(9500 / √100)

E = 1562.75

The margin of error at a 90% 
confidence level is 1562.75 km 

b) Confidence Interval = Mean ± Margin of Error

Lower limit = 190,000 ­ 1562.75

    = 188437.25

Upper limit = 190,000 + 1562.75

    = 191,562.75
The 90% confidence interval for the mean lifetime 
is from about 188,437.25 km to 191,562.75 km

p = P(on time) = 0.95,  q = P(not on time) = 0.05,  n = 65
a) Recall that for a binomial distribution P(X) = nCr(p)r(q)n­r

P(X > 60) = P(60) + P(61) + P(62) + P(63) + P(64) + P(65)

= 65C60(0.95)60(0.05)5 + 65C61(0.95)61(0.05)4 + 65C62(0.95)62(0.05)3 + 
65C63(0.95)63(0.05)2 + 65C64(0.95)64(0.05)1 + 65C65(0.95)65(0.05)0

= 0.1189 + 0.1852 + 0.2270 + 0.2054 + 0.1220 + 0.0356

= 0.8941
The probability of 60 or more buses arriving on time is 0.8941

b) Check the restrictions for a binomial distribution to be considered to 
behave like a normal approximation...

np = 65(0.95)

= 61.75

nq = 65(0.05)

= 3.25

Since both of these are not > 5 
then it is not reasonable to 
model this distribution using a 
normal approximation.
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c)  p = P(on time) = 0.95,  q = P(not on time) = 0.05,  n = 65

= 65(0.95)

= 61.75
= √ 65(0.95)(0.05)
= 1.757

The mean is 61.75 and the standard deviation is about 1.757
d) For 60 or more buses to arrive on time, we need to use z­scores and 
the table. Applying the continuity correction we need P(59.5 < x < 65.5)
x = 59.5,      = 61.75,  s = 1.757

x = 65.5,      = 61.75,  s = 1.757

z = (59.5 ­ 61.75) / 1.757

z = ­1.28

z = (65.5 ­ 61.75) / 1.757

z = 2.13 P(x < 65.5) = 0.9901

P(x < 59.5) = 0.1003

P(59.5 < x < 65.5) = P(x < 65.5) ­ P(x < 59.5)

= 0.9901 ­ 0.1003

= 0.8898
The probability of 60 or more 
buses arriving on time is 0.8898

e) The answer to part (a) is very 
slightly higher (0.43%) compared 
to the answer to part (d).

a) No this is not a representative sample because it only has high 
school students in it.

b) This is a hypergeometric distribution because once someone is 
selected, they can't be reselected. For a normal approximation to be 
reasonable the sample size needs to be less than 10% of the 
population. This is true.

c) 
= 25(0.1)

= 2.5 =       25(0.1)(0.9)√ 3500 ­ 25
3500 ­ 1

= 1.4948
The mean is 2.5 and the standard deviation is about 1.4948

d)
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d) For at least 5 students to have flu, we need to use z­scores and the 
table. Applying the continuity correction we need P(x > 4.5)
x = 4.5,      = 2.5,  s = 1.4948

z = (4.5 ­ 2.5) / 1.4948

z = 1.34 P(x < 4.5) = 0.9009

The probability of 5 or more 
students having flu is 0.0991

However we want P(x > 4.5) = 1 ­ P(x < 4.5)

   = 1 ­ 0.9009

   = 0.0991

e) Using the hypergeometric formula from lesson 4.50 as well as the 
indirect method we can calculate P(x > 5).

P(x > 5) = 1 ­ P(x < 5)

= 1 ­ 0.902747929

= 0.0973

The probability of 5 or more students 
having flu is 0.0973
The normal approximation gives a slightly 
higher answer of 9.9% versus 9.7%
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